Long Division
(without remainder)

Name

Score

DS:II1:09

D 3Y6,321 2) Y5736
—_— Q —_—
R = R =

3) 5Y1.080 D 4) 819
—_— Q —_—
R = R =

) 9) 4392 6) 63486
—_— Q —_—
R = R =

) 7Y 8568 8)  1Y5302
—_— Q —_—
R = R =

www.mathsharpeners.com




o
© e
QO

Long Division
(without remainder)

Name

Score

Answer key DS:II1:09
1 3Y6321 2)  8)5736
Q= 2,107 Q= 717
R = 0 R = 0
3) 5)7.080 D 4) 819
Q= 216 Q= 2048
R = 0 R = 0
) 9) 2392 6)  6) 3,486
- 488 Q= 581
R = 0 R = 0
) 7Y 8568 8)  1)5302
Q= 1,224 Q= 2651
R = 0 R = 0
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